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#include <stdio.h>
double add(double xin, double yin);

/* ========== mqain I:l I:l x/
int main(void)
{

double x, y, wa;

ooooooa

wa=add(x,y) ;

ooooooa

return O;

/% ========== Q00000 x/
double add(double xin, double yin){
double zout;

zout = Xin+yin;



return zout;
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#include <stdio.h>
void gaussjordan(double a[][100], double b[100],
double inv_al[] [100], double x[100]);

/* ========== pain [0 0 «/
int main(void){
double a[100] [100], b[100]; // all]1 0000 p[(1O0OO0O
double inv_a[100] [100], x[100]; // inv_al[l[1 000 x[]0O

gonooooo
gaussjordan(a,b,inv_a,x);
gopooooo

return O;



/¥ ========== (] 00000000000 */
void gaussjordan(double a[][100], double b[100],
double inv_al[][100], double x[100]){
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inv_alil[j] = 0000000
bl[i] = 00000
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return 0;
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return 1;
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int gaussjordan(int n, double a[][100], double b[100],
double inv_a[][100], double x[100]);
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for(ipv=1 ; ipv <= n ; ipv++){
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inv_pivot = 1.0/alipv] [ipv];
for(j=1 ; j <=n ; j++{

alipv] [j] *= inv_pivot;
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blipv] *= inv_pivot;

e jpv0 j0057=1,23,---,n000000000for0000000000O000O00O00OO

e alipv][j] « inv.pivot*alipv]l[jIOOOOOCOOOO alipvl[j]l *= invpivetO O OODO
O000Oalipvl[j] = invpivot*alipv] [j1 00000 OO0DOOOO0OOCOOOODOO
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ododdooooooooooooooooooooods=1,2,3,---,n0 5=1,2,3,--- ,n0000 A
gooboooooood
for(i=1 ; i<=n ; i++){
if(i '= ipw){
temp = al[i] [ipv];
for(j=1 ; j<=n ; j++){
ali][j] -= temp*alipv] [j];
}
b[i] -= temp*bl[ipv];
}
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/¥ ========== [ 00000000000 */
void gauss_jordan(int n, double a[][100], double b[])
{

int ipv, i, j;
double inv_pivot, temp;

for(ipv=1 ; ipv <= n ; ipv++){

/[ ———— 0000=1(CQ0000000) ---- %/
inv_pivot = 1.0/alipv] [ipv];
for(j=1 ; j <= n ; j+H){
alipv] [j] *= inv_pivot;
}

blipv] *= inv_pivot;

/ ——— O00000=00000000000) —-—— %/
for(i=1 ; i<=n ; i++){
if(i 1= ipw){
temp = a[il [ipv];
for(j=1 ; j<=n ; j++){
alil[j]1 -= temp=*alipv][j];
}
bl[i] -= temp*b[ipv];
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big=0.0;
for(i=ipv ; i<=n ; i++){
if (fabs(ali] [ipv]) > big){
big = fabs(alil [ipv]);
pivot_row = 1i;
}
}
if(big == 0.0) return 1;
row[ipv] = pivot_row;

obooooooooboooboooboooooon
e bigUUOOOOOODOODOODO

e U0 (0DUIODDOO)IDUUOOpPivetrow O OO
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if(ipv != pivot_row){

for(i=1 ; i<=n ; i++){
temp = alipv] [i];
alipv] [i] = a[pivot_row] [i];
alpivot_row] [i] = temp;

}

temp = blipv];
blipv] = blpivot_row];
blpivot_row] = temp;
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gb2200000021000000000000000000DOOODO0OOODDOOODOOODOO
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/x ========= 000000000000 */

int gauss_jordan(int n, double al[] [MAXN+10], double b[])
{

int ipv, i, j;

double inv_pivot, temp;

double big;
int pivot_row, row[MAXN+10];

for(ipv=1 ; ipv <= n ; ipv++){
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/¥ ———— 00000 ====—-———m——m—m e */
big=0.0;
for(i=ipv ; i<=n ; i++){
if (fabs(al[il [ipv]) > big){
big = fabs(alil [ipv]);
pivot_row = 1i;
}
}
if(big == 0.0) return 1;
row[ipv] = pivot_row;

/¥ ———— 000000 ——=—=————————m—m——— */
if(ipv != pivot_row){
for(i=1 ; i<=n ; i++){
temp = alipv][i];
alipv] [i] = al[pivot_row] [i];
alpivot_row] [i] = temp;
}
temp = b[ipv];
blipv] = blpivot_row];
blpivot_row] = temp;
}

/* -—— 0000=1(C0000000) —————-—-—- */
inv_pivot = 1.0/alipv] [ipv];
for(j=1 ; j <=n ; j++){
alipv] [j] *= inv_pivot;
}

blipv] *= inv_pivot;

/ —— 00000=00000000000) ——— %/
for(i=1 ; i<=n ; i++){
if (i = ipw){
temp = ali] [ipv];
for(j=1 ; j<=n ; j++){
alil [j1 -= temp*alipv][j];
}
b[i] -= temp*b[ipv];

3

return O;
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for(i=1 ; i<=n ; i++){
for(j=1 ; j<=n ; j++){

if(i == j){
inv_alil[j1=1.0;

Yelsed{
inv_al[i] [j1=0.0;

}
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e 10IDOOOODODODOOODOOOOOOOODODOOODDOO invalOOO0OOO0OO0OO0OOO
oooooo

temp = alipv] [i];
alipv] [i] = a[pivot_row] [i];
a[pivot_row] [i] = temp;

temp = inv_alipv] [i]; /¥ —— 0000 —- %/

inv_alipv] [i] = inv_alpivot_row][i]l; /* -- 0000 -- %/

inv_al[pivot_row] [i] = temp; / = Q0000 -- %/
oooooon

e HO0ODOD1000O0O0OLODODDODOODLOOODODODODDOOODODLDOODOODOODOObOOOO0

alipv] [j] *= inv_pivot;
inv_alipv] [j] *= inv_pivot; /* —— Q0000 -- %/
ooooood

e 000 DODOOOODOOOODOCODOODOOODOOOODOODDODODODDOODOODOOD
gooooo

alil [j] -= temp*alipv][j];
inv_alil [j] -= temp#*inv_alipvl[jl; /x -——- 0000 -- %/

goooood
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oboooooboooooboboooooooooooooOooboooooooooooooon
/¥ ========= 0 00000000000 */

int gauss_jordan(int n, double al[] [MAXN+10], double b[],
double inv_al[] [MAXN+10]){

int ipv, 1, j;
double inv_pivot, temp;

double big;
int pivot_row, row[MAXN+10];

/% === 000000 =-mmm=mmm=mmmmmmmmmm e e x/

for(i=1 ; i<=n ; i++){
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for(j=1 ; j<=n ; j+H){
if (i==j){
inv_al[i] [j]1=1.0;
Yelsed{
inv_ali] [j]1=0.0;
}

}
for(ipv=1 ; ipv <= n ; ipv++){

/¥ ———— 00000 - */
big=0.0;
for(i=ipv ; i<=n ; i++){
if (fabs(al[il [ipv]) > big){
big = fabs(alil [ipv]l);
pivot_row = i;
}
}
if(big == 0.0) return 1;
row[ipv] = pivot_row;

/¥ ———— 000000 - */
if(ipv != pivot_row){
for(i=1 ; i<=n ; i++){
temp = alipv] [i];
alipv] [i] = al[pivot_row] [i];
alpivot_row] [i] = temp;
temp = inv_alipv] [i];
inv_alipv] [i] = inv_alpivot_row] [i];
inv_a[pivot_row] [i] = temp;
}
temp = b[ipv];
blipv] = blpivot_row];
blpivot_row] = temp;
}

/x —-——— 0000=1(000000008) -—————-—-—- */
inv_pivot = 1.0/alipv] [ipv];
for(j=1 ; j <=n ; j+H{
alipv] [j] *= inv_pivot;
inv_alipv] [j] *= inv_pivot;
}

blipv] *= inv_pivot;

/* ————00000=00000000000) ---- %/
for(i=1 ; i<=n ; i++){
if (i = ipw){
temp = al[i] [ipv];
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for(j=1 ; j<=n ; j++){
alil [j] -= temp*alipv] [j];
inv_alil [j] -= temp*inv_alipv][j];
}
b[i] -= temp*b[ipv];

}

return O;
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/¥ ———- 0000=1@00000000) -----mmmmv x/
inv_pivot = 1.0/alipv] [ipv];
alipv] [ipv]=1.0; /¥ -—— 000000 --- %/

for(j=1 ; j <=n ; j++{
alipv] [j] *= inv_pivot;
}

blipv] *= inv_pivot;

200000000000000000000000000000000000000
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/ ———00000=00000000000) -——- %/
for(i=1 ; i<=n ; i++){
if(i '= ipv){

temp = alil [ipv];

ali] [ipv]=0.0; /¥ ——— 000000 --- %/

for(j=1 ; j<=n ; j++){

alil[j] -= tempxalipv][jl;
}
b[i] -= temp*bl[ipv];
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000 ADDDOOOOOOOODA Y 0000000000000 0000000000000000
groo00o0coDooboOooOobooon
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* * * * * * * ok % O[Qj * * 1
a;1 Q32 Q33 Q4 Qi5 ... Qgp * ok X Qa3 X ... X 1
* * * * * ...k R e P I I )

ooboooooobooooboboooboboooooooobooan
(DOO000:000000D0)-(0000;j0000000)=24;;

000000000 000000000004,;0000000000000:=50000000 104¢+#j
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gobooooobooooooooobobooooboooobooooboooboooboooooobooo
goboboboooboboooobooboooooobooooobooboobobooobODbOoboDbbn
obooooooooooooooobooooon

/¥ ————- 000000 (000) —=-=———=—=—=—————————— e */
for(j=n ; j>=1 ; j——){
if(j !'= row[jI){
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for(i=1 ; i<=n ; i++){
temp = alil[j];
alil[jl=alil [row([j]1];
ali] [row[jl]=temp;

}

243 0O0000O0OO0OO0OOOOOOOODOOOOOODODOO

ooboboooooboboobobobooobooooooobooboobooooooobooooboooooo
ooooboooobooboboo

e JO0I0ODOODOOOOO0OODOODOOOODOOODODOODODOOO
e 1O00I0DOODO0OOOOOOOODOOODODOOOODO

gooooog
ooboooooboooobooooooobooboboooboboboobboooooooooon

/x ========= 0 00000000000 == x/

int gauss_jordan(int n, double a[] [MAXN+10], double b[]){

int ipv, i, j;

double inv_pivot, temp;
double big;

int pivot_row, row[MAXN+10];

for(ipv=1 ; ipv <= n ; ipv++){

/¥ ———— 00000 - */
big=0.0;
for(i=ipv ; i<=n ; i++){
if (fabs(al[i] [ipv]) > big){
big = fabs(ali] [ipv]);
pivot_row = i;
}
}
if(big == 0.0) return 1;
row[ipv] = pivot_row;

Y2 s */
if(ipv !'= pivot_row){
for(i=1 ; i<=n ; i++){
temp = alipv] [i];
alipv] [i] = alpivot_row] [i];
alpivot_row] [i] = temp;
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temp = b[ipv];
blipv] = blpivot_row];
blpivot_row] = temp;

}

/x ———— 0000=100000000) -——————-—- */
inv_pivot = 1.0/alipv] [ipv];
alipv] [ipv]=1.0;
for(j=1 ; j <=n ; j+H){
alipv] [j] *= inv_pivot;
}

blipv] *= inv_pivot;

/* ———— 0O00000=00000000000) -—— %/
for(i=1 ; i<=n ; i++){
if(i 1= ipw){
temp = ali] [ipv];
ali] [ipv]=0.0;
for(j=1 ; j<=n ; j++){
alil [j1 -= temp*alipv][j];

}
b[i] -= temp*bl[ipv];
}
}
}
/% ———- 000000 (QOD0) =mmmmmmmmmmmmmmmmmmmmmmmmm

for(j=n ; j>=1 ; j——){
if(§ '= row[j1{
for(i=1 ; i<=n ; i++){
temp = alil [j];
alil [j1=alil [row[j1];
al[il [row[jl]=temp;
}

3

return O;
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3 duuboouoooon

o000 2430000000000D00D0O0O0O000O00O0ODODOOODOOODOOOOODODOO
gboboobooooooboobObOoooobooooboooooboonn

if (gauss_jordan(n, a, b) == 1){
printf ("singular matrix !!!\n");
exit(1);
I
gauss_jordan() 0000000000 DODDOOOODOOO

en1 0000000 O0DOOOOOODOODa00D00O0DO0OO0 2000000000000 100
oo000ob0bo0oobOob0o0g a0Db0Ob0»O00oooOO

e JOO0O0OODOODOODOODOOOODOODOOOODOOOODLO 1IO00DOOOOODOO
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